oo

oooot

Oct. 17, 2005

00000 MWOO00DO0 MOooo0






010
1.1
1.2

1.3

14

020
2.1
2.2
2.3
24

030
3.1
3.2
3.3
3.4

040
4.1
4.2
4.3
4.4

gs0
5.1
5.2
9.3

gooooooood 7
000000000000 ...t e e e e e e 7
0 8
1.21 0000000 ... s e 8
1.22 0000 ... o e e s e e 10
1.23 OO0 ... e e 11
OO00O000 ... e e e e e e e e 14
1.3.1 0000000 truncation errord . . . . . . . . . .. 14
1.3.2 000000000 ... ... ... 15
JOO0O0 . e e e e e e e 16
doooooood 21
I 21
Joooooooooogn . ... oo nd oo e e 23
0 27
doooooooooooooon @ ..o oo 27
goooo 31
I 0 31
OO0O0O0000 .. e e s s e e e 32
I 0 34
O000000 ... .. e e e e 35
goooo 39
OO000 ... . e s e e e 39
Q000000 .. e e e e e e e s e e e 40
0000000000D00000 .+ ..., 42
00000000000 ... ... e, 44
ooooooooag 51
0 51
£ 52
I P 54



ged
6.1
6.2
6.3

gr7d
7.1
7.2
7.3
7.4

g 8d
8.1
8.2

gond
9.1
9.2
9.3

9.4
9.5

gi1o0
10.1

10.2

goooooooo

ooooooooooDIg
ooooooooo

goooooooooao

oooooooooDIId
obooooooooooon
obooooobooboooobooog

822 0O0OO0OO0O0OO0OOOO
8.2.3 SORO

gbooooooooo
obooboooooooooooo
goooogooooon
goooobao
gooooo

933 OO0O0OO0OO0OO

obobooooobooboooooooog
goboooboooogoooboo
gboooooooooooooon

ooooog
gboobood

59
99
60
61

65
65
66
70
71

75
(0]
76
76
78
79

83
83
84
85
86
88
88
90
93
93
95



1.1
1.2
1.3
14

2.1

N 8
N I 10
gobobOoooooooboooooog .. 14
oobooooboobooooooooogono oo 16

goboboooboooobooobooooboobbooo
OO0 .. 26






U1b tUootdogobod

1.1 U0goobobobad

gooobooboboobbooooooooboobooooo

0.504 x 10® (= 504)
0.123 x 10! (= 0.0123)

gboboobooooboobooooobobobobooooooooboooboi1000
obooooooogoo

oboooboooooooooboooogoobbooooooboboooooboo
gooooo

t
+(0.dydy - -+ dy) x 2" (=) _d270 x 2") (1.1)
=1

000000004@,0..@, 00000 0000 10000+00000
0.didy---d,000002"0000000000000 00000000
0004, 010000000000000000000000000000
00000.001101 x2-°00000000 01101 x2-70000
00000000 (1L.1)000000000 1.1000000000000
00000 k0000000000000000000 200000000
0000000000 L(<0)00 U(>0)0000000000—L+1<2*
000000 (k00000000000 0000000000000000
000000004, =1000000000 ¢, 000000000000
0@MO00000000000000 ¢+-1000000000000000
0000000000000 0000000000000000

(0.111---1) x2Y = (1 - 27" x 2VDO (1.2)
(0.100---0) x 24 =281 (1.3)

ooooobooo0OoOooOobDObOODOODbDODOODOD0DGr=100000
gooobobbobooobdoboboooooobooobooboboboba
0000D0000000000U-L+102*00000000
obboobooboooobooooobooooo [FEEODOOOOOOO
OOOO0O0OIEEEDODOOO320000000000000000000O



010 O0OOobOooooooo

U 11 IEEEOD00O0O0O00O0000000O0000000D0O0

0o oooog gooo
goooog 32 64
ooooooo 8 11
0000000 | 23 (t=24) | 52 (t=53)
L —125 —1021
U 128 1024
0000000 | 3.4x10% | 1.8x 10308
0000000 | 1.2x10738 | 2.2 x 10308

gbb0e40000000000C0000000000OO0OOO00O000O00
oboobooooooboooobLovoooboboooboooooooon
110000000000

ubooboooobbooobobooobooooooboooooao
gbOoboooobobooooboboobboooobooooooooao
oooooOooOoooOobOoobooooooooboooooboooooon
gobooboobooooooooooboboboobooooobooboboooann
gbbooobooooooboboooobooooooooboobooobooa
obooooboooobooboobooooobobooboooboboooooooo
obobooogooooobgoooobooboboobooboooobbobooobo
ooooooooboooogooo

1.2 0OOdd

1.2.1 0000000

gbooogooobobooobobboboooooobobooobooo
000000000000020000000000000000000
gobooboobobooboobooboooooobobllobooooooooon
0o02000000000000 o0.0011001100110011---000000000O
gbooboboooboooooboobooooobobooooooooooooo
gbobooboooooobbtolcooobooboobobobooboobooooo
gboooobooboboooogo ob 1boobbOoOoboOoOoOoobooon
gboooooooboooooo
goboboooobooooboobbooooooobootobogooboo
gbobbooooooboboooooobob++«goobo0ooooboo
00000000000000000000 100000000 00.123 x 10°
00567x1072000000000300000000000000000
gbooooboooboooooboooboobobooooo



1.2, 0000 9

0.123000 x 10°
+)  0.000567 x 10°
0.123567 x 10°

o0dobobo0o0d eOO0OCODODOODUOODOUOODOODODODOODn
0000000124 x10°0000000000

000z =(0.dydy---didyy1---)x2"00000 00 10000000 ¢
00o00d0o0oo0oooo0o00doooodooooooooooon
z0z0

X = (0.d1d2 s dt) x 2™
T = (Odldz ceedy + 2_t) x 2™
ooooo
r<xz<T (1-4)
000020 :x07000000000000000 120000000 #0
0000000000000000
| o — & |< 27ttt (1.5)
0000000«z0
2nl < <2 (1.6)
0000000000000 000D00000

|z —3 | 27ttn-l
<

| T | - 2n71

=27t (1.7)

goooo

N

X

>4
o]l

“«———2'x2"

U1ll.00000000000000D0O0

1.2.2 0000

ooboooooooooboooooboooboobooobooboooooon
gooobooobooooooooobooboooobooboooooooono
gooooobood



10 010 O0OOobOooooooo

goboboboobooobobboboobbobooboobobooo
x:(O.d1d2---dt)><2"|]
y=(0.cica---cp) x 2™

oboooooooboooobbOoobobOooboobooooooobooon
gboooooobooo m=n-300000

0.d1d2d3d4 s dt x 2™
+) 0.000 Cl - Ct—_3Ct_2Ct_1C¢ X 2™

bdddyOooooboboobooobooboon
Ub0y0O x00000000000m=n—-¢t-1000000000
ooooooobooogooboooooogg

0.diydy---d,000---0 x27
+) 0.00 ---00cica ¢ x2"
O.dldQ"'dtO C1C2 -+ - C¢ X2

000000000000000¢¢t00000000 100000000 ¢+1
00 0000000000000000000 0.didy---dy x270 2000
000000000000000000y000000000000000
00000000000 O000000000
00000000000000000000000000000000
sn:g;%:1+i+é+-~+£5 (1.8)
00000000lm,0S, =% 00000000000 000000
00000000000 A000000000000000000,000
0000000000 00000000000000000000000
0000000000000000000000000000 aObO0O0O
0000000000000000000000000000000000
Oooo0O000O00O
000000000000000000000000000000000
00000000000000000000000000000000000
ooooo
1 1 1 11
EAXH7Df+w72V+~-+Z+§+1 (1.9)
000000000000 00000000000000000000000
00000000000 00000000000000000000000
0000000000000000000000000000000000
0000000000000000000000000000000000
000000000000000000

Sp =



1.2, 0000 11

1.2.3 0O0OU

obooobooooooboboooooogoooooobobooooooobooo
ooooooooooboooooo0oobo0o0o k00000 DO0O0ODODOO
gbooooooooggd

¢ =0dids---dydpypr - dp x 2"

=) y =0.didy - - dgCrqr - -+ ¢ X 2"

r—y =000 -0 bpy1 - by x27
=0.bpyq--by x 2"k

ooboOoOoobooOo0o00t—k00000000O0DO0ODOODOODOOO
oboooooboobooo
oobooooooboooooooooboooboooooboooobooooo
goooobooboioon z0ygoogbog20¢«0000000000
0000000000 Az0Ay00C0O0O0OO00O0OO

T=x+ Az
y=y+Ay

0000000000000 00 z=2x—y0O0O0O0oO AzODQODODODOO
oooooobooooobooooo

Z = -y

= z+Az (1.10)
gooooood
Az =Ax— Ay
Az _ Az Ay _x Az y Ay
z - z z _Z X z Yy
A A A
SE < B Y12 (1.11)
z z T z Y

0000000 (1.11)0000 200000000 2000000 |z/z| O
000D0000000000000000000000000000 20y
0000000 |2/« [¢x|00000000000000000000000
000

00000000000000000000 ax?+br+c=000000

_ /b2 —

T, = W (1.12)
—b—b2 —2

oy = 2 Vb —dac (1.13)

2a



12 010 O0OOobOooooooo

0000000b>000 0?2 >4ec00000VE2 —dac~b0000x; 0
000000000000000000D0D002, 0000000000000
—b0000 V2 —4dac~b0000000D000O0DODOOOODOOOOO
000000z 000000000D0000O0000O0O0DO0O0O00DO00
oooooog

(=b+ Vb? — dac)(—b — Vb? — 4ac)
2a(—b — Vb% — 4ac)
4ac
2a(—=b— Vb? — 4ac)
2c
= — 1.14
—b — Vb — dac (114)
ggoooboobobobooouoobo bbb booobuooob oo
googoao
0000000000000 00ODOTaylorOOOOODOOODO e 00O
0000000000000D0000 =200000 "0 1072000

oo0ooooooooobobDOo0obbob0D TaylorD OO O

rp =

- _ z z z e
e _1_F+§_§+ (115)

gooboooooobooo 1ooboobooboooooboboooooo

ooobooooooobboooboboooooobboooooooboooog
goooooooooooo

e = —
6.13
1
- 1.16
I+ & +4 420 (116)

0000000000000 (l.1)000U00oO000obO0ODOoDoOUOoOoo
ooooooooooobooboooooooooooo
obooooooooboooooboboboobooooooboooooboon
ggoooobobboooobooboboooboooobooobooboobooba
gbooooooooobbooboobooboboobooooboboooooog
obobooobooboobooooooooobooooooog



